





SUNVISOR SYSTEMS

NSA Sunvisor System For Date | Revision | Approved
Mitsubishi MU-2 2/20/24 P SYS
Drawing List
FAA STC SA02034SE RMU-2-00DL Doc. 9050-0185-001
R185000X
1|2 Drawing Replaces DESCRIPTION REV
200. Complete System
1 1850001 RMU2-300-1 (pre SIN 165) E
200 Complete Mod System
1 1850002 RMU2-300-2 (SIN 165 and up) D
1850105 Mounting Bracket A
1850106 Swivel, 10° D
2 1850104 RMU2-200-10 | MU-2 Mod Bracket B
2 1850102 RMU2-200-12 | MU-2 Mod Swivel C
2|2 1020100-001 NSA Modified Block Assembly F
212 1020002-001 Modified ‘A’ Block P
212 1020003-001 Modified ‘B’ Block \Y
2|2 1010000-5 Complete Slide Assembly G
212 1010001-5 Female Slide - Universal M
2|2 1010002-3 Male Slide - Universal U
2|2 1010003 R1010003 Lens Strip H
212 1850201 RMU2-200-1 MU2-NSA Lens D
Kits
R1010000-KIT-5 Universal Slide with Lens Strip Kit A
1 1 1010000-5 Complete Slide Assembly G
1 1010003 Lens Strip H
3 |3 MS24693-C48BP #8-32 X .375 Flat Head Phillips SS Black
Patch Screw
1 [ 1 R1850201 MU2-NSA Lens Kit D
111 9051-0185-001 Installation Instructions E

86365 College View Road

Eugene, Oregon USA 97405
WWW.roSenvisor.com

(541) 747 0034
Page 1 of 1




SUNVISOR SYSTEMS

Installation Instructions for NSA Mitsubishi MU-2
Kit R1850001, R1850002 (Ref: RMU-2-300-1, RMU-2-300-2)

This is an FAA STC'd installation requiring a logbook entry upon completion. Doc: 9051-0185-001
Rev Date Approved

Please read through these instructions completely before beginning. E | 8/18/2009 GH
Hardware:

4 MS24693-C274B #10-32 x 3/4 Phillips Head Screw (Kit R1850001)

4 MS24693-C52B #8-32 x 3/4 Phillips Head Screw (Kit R1850001)

6 MS24693-C274B #10-32 x 3/4 Phillips Head Screw (Kit R1850002)

6 MS24693-C52B #8-32 x 3/4 Phillips Head Screw (Kit R1850002)

1 9/64 Allen Key (for #8-32 Cap Screw)

1 5/32 Allen Key (for #10-32 Cap Screw)

Note: The Rosen NSA (New Sliding Arm) sunvisor system for the Mitsubishi MU-2 uses the same hard
points as the original equipment visors.

Kit R1850001 has a two (2) hole mounting bracket. Kit R1850002 has a three (3) hole mounting bracket.
Different aircraft may require 10-32 or 8-32 screws for installation. A full set of both screws is provided
with each system.

e Remove the original visor. This is easily done by removing the screws on each side.

e Using the supplied screws which are appropriate to
the aircraft, install the Rosen MU-2 Visor on the % = = = = = @

pilot’s side first. The Rosen visor will use the same
mounting points as the old unit. To determine what
side the visor belongs on, hold a visor across the
front and the red knob should be away from the
pilot’s position.

e Tensions can be adjusted to customer satisfaction using the Allen keys provided.
e Each side should take 15-20 minutes to install.

e Afterinstalling the pilot’s side, repeat the procedure for the co-pilot’s side.

System Use:
e With the tensions set correctly all the motions should be snug but not stiff.

e Rotate and position the visor to your satisfaction.

e To stow, slide the arm back a small distance and rotate to the rear and up.

86365 College View Road Eugene, Oregon USA 97405 541.747.0034
WWW.rosenvisor.com Page 1 of 2



Continued Airworthiness Instructions:

e (On_the ground only)

o Periodically clean the lenses with Rosen Plastic Cleaner, Polisher & Protectant, or a soft
cloth, mild soap and water. Do not use abrasives on the lens.

o0 Periodically adjust the pivot tensions on the visor assemblies.

e Updates to this continued airworthiness section are available on the Rosen Website.
(www.rosenvisor.com)

The most up to date version of this document is available on the Rosen Website. (www.rosenvisor.com)
We recommend that you periodically look to make sure you are using the most current version.

Airworthiness Limitations:

The Airworthiness Limitations Section is FAA approved and specifies maintenance required under
8843.16 and 91.403 of the Federal Aviation Regulations unless an alternative program has been FAA
approved.

There are no airworthiness limitations associated with this installation.

86365 College View Road Eugene, Oregon USA 97405 541.747.0034
wWww.rosenvlsor.com Page 2 of 2


http://www.rosenvisor.com/
http://www.rosenvisor.com/

	9051-0185-001 Rev E - Installation Instructions NSA Mitsubishi MU-2.pdf
	Installation Instructions for NSA Mitsubishi MU-2
	 Kit R1850001, R1850002 (Ref: RMU-2-300-1, RMU-2-300-2)




